Advanced Algebra 2:  Chapter 11: Definitions and Formulas


A sequence is a function whose domain is the set of positive integers.  Each number of the sequence is called a term.  The first term of the sequence is denoted a1, the second a2, and the nth an.  Note: the text uses “t” in place of a.  

An arithmetic sequence is a sequence which each term, after the first, is found by adding a constant, called the common difference (d), to the previous term.  In short an arithmetic sequence has the following form:  
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The nth term of an Arithmetic Sequence: 
[image: image2.wmf](

)

1

1

n

aand

=+-


A geometric sequence is a sequence which each term, after the first, is found by multiplying a constant, called the common ratio (r), to the previous term.  In short a geometric sequence has the following form:  
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The nth term of a Geometric Sequence: 
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A series is a sum of terms in a sequence.  

The nth partial sum, denoted Sn, of a series is the sum of the first n terms of that series.  

The nth partial sum of a series has the following form: 
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The nth partial sum of an Arithmetic Series: 
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The nth partial sum of a Geometric Series: 
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An infinite series converges if the series has a finite sum. 
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An infinite series diverges if the series increases or decreases without bound.
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The sum of a infinite geometric series: 
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Otherwise, the series will diverge.


The mean, or center, between two terms of an arithmetic sequence is:  
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The mean, or center, between two terms of a geometric sequence is:  
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